Chapter 2

Arithmetic Strategies & Area

Extra Practice Packet For
The Chapter 2 Test

*Math Notes: Displays Of Data *Decimal Worksheets & Exercises

*Math Notes: Stem & Leaf Plots -Determining Decimal Place Value
*Math Notes: Area -Rounding Decimals

*Math Notes: Area, Rectangles, & Square Units -Arranging Decimals

*Math Notes: Generic Rectangles -Adding & Subtracting Decimals
*Math Notes: Greatest Common Factors -Multiplying Decimals

*Math Notes: Distributive Property *Adding & Subtracting Decimals
*Histograms & Bar Graphs *Comparing Decimals

*Multiplying w/ Generic Rectangles *Multiplying Decimals

*Additional Generic Rectangle Help & Practice *Stem & Leaf Plots

*Distributive Property
*Area Of Irregular Figures
*Area Of Shapes Of Partial Block Figures

*Shape Designs & Pattern Blocks




MNMOTES:

Toollt

Chapter 2: Anithmetic Strategies and Area

MATH NOTES

DISPLAYS OF DATA

Diata can be displayed visually in different formars L
depending on the kind of information collected.

A dot plot is a2 way of displaying data that has
an order and can be placed on a rmmber line
Dot plots are generally used when the data is
discrete (separate and disonct) and nmerons
pieces of data fall on most values. Examples:

the number of siblings each smdent in your - -
class has, the number of correct answers on a 1L 2 3 4 5 &
quiz, or the number relled on a die (the praph MNumber rolled on dis
at right shows 20 nolls). 3

A bar graph is used when data :‘.1,-_

falls in catepories that typically B
have no nomerical crder. The 104
eraph at right shows that prean is E4
the favorite color of 14 smdents. &

A Venn diagram iz two or more 4
owverlapping circles used o show 24
overlap between catepories of data.
The diapram at right shows that Ead Blue Grean Purpls
7 smadents have both dogs and cats, Favorite colox

2 smadents have only dogs, 10 have

only cats, 3 smdents do not have a

dog or a cat, 16 smademts have dogs,

and 17 students have cats.

Frequency

Cats Daogs

HISTOGRAMS

A histopram is similar to a dot plot except that each \
bar represents data in an mterval of rmmbers. The intervals

for the data are showm on the horizontal axis. The frequency
(mumber of pieces of data in each interval) is represenied by the
height of a bar above the imnterval. Each interval is also called a him-

The labels on the horizontal axis 1T
represent the lower end of each

interval . For example, the histopram = -,
at right shows that 10 students take o
at least 15 minutes but less than -4
30 minntes to get bo school =

Histograms and dot plots are for
displaying numeric data with an
order. Bar graphs are for data in D 15 30 45 60 TS5 S0
categories where order generally Ifinutes to schoal
does not matter.



STEM-AND-LEAF PLOTS

A stem-and-leaf plot iz similar to a histogram except that it

showrs the individual values from a set of daa and how the values L
are distmibuted. The “stem’™ part of the praph represents all of the

dipits in a number except the last one. The “leaf” part of the

eraph represents the last digit of each of the numbers. Every
stem-and-leaf plot needs a “key ™ The place value of the entries

iz determined by the key. This is important becanse &2 could

mean 82 or 8.2

Example: Smdents in a math class received the o
following scores on their tests: 49 52, 54, 58, 61, £]2  mesns wEz
61,67,68,72, 73,73, 73,78, 82, and 83. Display

the test-score data on a stem-amud-leaf ploc
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AREA

The area of a repiom is the number of sgquoare units of the
interior of a region. Inthis courss, you will be asked o
consider the area of flat regions (novwmn as plane figures),
such as the top of a table, the Aoor of your classreom, other
varions geomemic shapes, or the surface of a pond.

To measure the area of a region, be sure to remember these Iportant
poimts:

=  Amny sguare can be wsed as a wnit of area—a square inch, a
square sticky note, a squnare centimeter, the square face of a
block —but depending on the object being measnured, some
omnits are more comvendent and common than others.

= To determine the area of a region, count the number of square
omndts that are needed to cover the repion completely withouat
2dps or overlaps.

»  If the sguare units you have chosen do not fie exactly within the
region boundaries, you will have to find a way to determine
what part of the sguare units are needed.

=  When the answer is stated, be sure to inclode the kind of square
onits that are baing used.

Example: In the sample figures below, assume each small square is one
square cemtimeter and esdmare the area of each figure.

Areais 30 sqgem Area is between 23 and 24 sg cm.

L CPM Educationzl Program

MNOTES:

Core Commections, Cowrse I



Tooldt

MNOTES:

Chapter 2: Anithmetic Strategies and Area

AREA, RECTANGLES, AND
SQUARE UNITS

To find the area of a rectangle, choose a convendiently sized
square urdt to cover the rectangle exactly with no overlaps_
Sometimes parts of square units are needed to cover the rectangle
completely. & Feet

In the rectangle at right, using sguares with
side lengihs of one foot, it takes 18 sguares }:

to cover the rectangle. Therefore, the area
of the rectangle iz 18 square feet.

Ome way to count squares in a rectangle quickly is to multply the
lemzths of two sides that meet (Intersect) at a comer, since
multplication is defined as repeated addition. For example, the
region of the rectangle above can be seem as either six groups of thres
squares (viewed as columms) or three proups of six squares {viewed
as rows). In either case, the area of a rectangle can be computad
wEing:

A = (lemgth){width) —

The same-zized shape may appear to have different S -
areas if it is measared using different wnits of measure.
Of course, the area did not change, bat the nmumber of
differeni-sized writs did. Note that the rectangle

showm at right is the same size as the ome abowve, but it
iz measured in yards instead of feet. The top rectangle I
has an area of 18 square feet. The area of the 'l_‘,_l'
rectangle at ripht has an area of 2 square yards._

Units for area can be abbreviated using symbols.
The area 18 square feet is abbreviated 18 sq fror 18 fi*.
The area ? square vards is abbreviated 2 sq wd or 2 wd*.

Bl T

1 yard

MULTIPLICATIONS USING
GENERIC RECTANGLES

To prepare for later topics in this course and fomre courses
it is helpful to nse an area model or generic rectangle to represent

mnltiplication. &0 7
For the problem 67 » 46, think of 67 as
60 + T and 46 as 40 + 6. Use these 400 2400 | 280

mumbers as the dimensions of a large
rectangle as shown at nght. Determimme
the area of each of the smaller 6| 360 42
rectangles and then find the sum of the
answer to the onginal problem.

67 = 46 = (60 + TH40 + 6) = 2400 + B0 = 360 + 42 = 3082




GREATEST COMMON FACTOR

To find the area of a rectangle, choose a convendently

sized square unit to cover the rectangle exactly with no

overlaps. Sometimes parts of square onits are needed to
completely cover the rectangle.

The greatest common factor of two or more integers 15 the
greatest positive integer that 15 a factor of both (or all) of the
integers.

For example, the factors of 18 are 1, 2, 3, 6, and 18 and the

factorsof 12 are 1, 2.3, 4, 6, and 12, so the greatest commeon
factor of 12 and 18 15 6.

DISTRIBUTIVE PROPERTY

The Distributive Property states that the nmldplier of a
sum or difference can be “dismibuted” to multply each term.
For example to muldply 8024), wnitten as 820 + £),

wou can use the zeneric-rectangle mode] balow.

0 4

The product is found by 8(20) + 8(4). | .20
So 8(20 + 4) = B(20) + B(4).

Esd

NOTES:



GRAPHICAL REPRESENTATIONS OF DATA

HISTOGRAMS AND BAR GRAPHS

Histograms and bar graphs are wisual ways to represent data. Both consist of vertical bars (called
bims) with heizhis that represent the mumber of data points (called the frequemcy) in each bin

are for displaying distribotions of mmmerical data. Im a histopram each bar represemis
the mumber of data elements within a certain range of valmes. All the bars touch sach other.
Values at the lefi side of a bin's rampe are incladed i that bin. Each range of valwes shonld have
the same width.

Bar praphs are for displaying categorical data. Im a bar praph each bar represents the rammber of
daia elemenis in a certain caiepory. All the bars are the same widih and are separated from each
other.

For additiomal informatiom and examples, see the biath Motes boxes in Lessons 2.1 2 and 2.2 1 of
the Core Conmecions, Cowrse 1 text, or Lesson 7.1.1 of the Core Connechions, Cowrse 2 text.
For additicmal examples and practice, see the Core Connactions, Cowrse 1 Checkpoint 94
materials or Commections, Cowrse 2 Checkpoint TH materials in the back of thoss texts.

Example 3

The scomes for a 25-point quiz are listed below arrameed from
least to preatest.

T.7,12, 13,15, 16, 16, 16, 18, 19,20, 20, 20,21, 21, 22,23, 24
Using intervals of five poinis, create a hisiopram fior the class.

Frequemcy

See histozram at Tight. Scores on the right end of the interval
are inchded in the next interval . The interval between 10 and .
15 only inclades the two scores of 12 and 13. The interval between S W15 M 28
15 and 20 only includes the six scores of 15, 16, 16, 16, 18, and 19. Beom:

Example 4

Ms. Lim asked each of her stadents about their favorite kind
of pet. Based on their respomsas | she drew the bar graph at
Tight. Use the bar graph to answer each question.

3. What is the favorite pet?
b. How many stdenis chose 3 bird as their favorite pet?
. What was the least favorite pet? }

74 o

Froquency
J I—

i




Smamstics and Probability

d. If every smdent voted once, how many students are
in the class?

ANswers: a.dog b6 c fish d 28

Problems

5. Mr. Dhaz surveyed his employess about the tme it takes

them to get to work. The results are shown in the histogram = =™
: il
at right B 5T
2. How many ermployess conpletad the surey? ,E ot
b. How many employees gt to work in less than 20 pumges? . | ‘ ‘

. How many employess get to work in less than 4 mimipes?
d. How meny employess take §0 minwes to get to work?

p LR O T | O .
Manuies o work

4. The two sixth zrade clesses at Vista Middle School voted a5
fior their favorite dessemt. The results are shown in the bar )
graph at right for the five favorite choices. -l ]

A. What was the favorite dessert and how many sdents gl.’-
mads that choice? ik

Hi
b. How meny students selected cake as their favonte dessent?
. How many smdents selected yogurt as their favorite? |_|

d. How mamy more students selected ice aream then pudding? o .'hf"l'ﬁ“' %*ﬁr ﬂf.fi

Favosmiz dasner

7. Mr. Femander azked 30 people at work how many pets they . ’ =
owned. The results are shown at right. Make a histogram to 0 pets = peopls
display this data. Use intervals of one pet. 1 pet & people
I pets 10 people
8. During the fist week of school Ms. Chan asked her students to 3 pets 3 people
name the commty where they were bomm. There were 5o mamy 4 pets 2 people
different counsries she prouped them by comtinent:  Spets 1 persom
North America 14 students, South America: 2 smdents, Opecs 1 person

Europe: 3 students. Asia: 10 smdents, Aftica: 1 student,
Anstralia: 0 smdents.

Make a bar graph to display this mformation.
9. Three coins were tossed 20 times and the momber of Tesalts that were “heads"™ each time is
shown below:

11,2023 L3135 L350 120131
Makes a histogram to show the remits

10. The physical educstion teacher at West Middle School asked the class shout their favorite
winfer activity. Hese were the results:

reading: 3 stadants, ice skating: 4 students, skiing: § stadent,
snowhbparding: 11 stuwdents, compater activitges: 14 smdents,
Make a bar graph to show the results.



Mlunstesr

MULTIPLICATION WITH GENERIC RECTANGLES

If a large rectangzle is cut into a nomber of smaller rectamgles, ten the area of the large rectangle
is equal o the sum of the areas of all the smaller rectaneles. The idea of breakong a product up
i parts is the basis for omltplication using genenic rectangles . We say “peneric” becanse the
dimensioms are not to scale. We use it to belp us visnalize mmldplication and 35 3 way o
mmloply mumbers by nsing a diagram. dultiplication using rectanzle models reinforces the
mmltiplication algorithm and will contimee to be used and extended thromeh Alzebra 1 amd
Algebra 2. For additiomal information, see the hMath Notes box im Lesson 2.3 2 of tee Core
Commectons, Course I text and Lesson 2 2.1 of the Core Commections, Cowrse 2 Xt

Example 1 M 5

Sfultiply 23- 35 using a penenic rectangle.

Since we are muoliplying a two-digit momber by a two-digit 30
ruxmber we meed 3 genenic rectangle as showm at ight The

rmbers to be nmiltiplied are separated (decomposed) based

on place valee. In this case, for example, 23 has two tens (200 5
and 3 omes.

The area of the product (te largs rectamgle) is eqaal to the

sum of the areas of each of the smaller rectangles. The area of 20 3
each of the smaller rectangles is found by multiplying its
dimensions.

30 £00 90

Find the area of each of the smaller ectanzles and then sum
them topether.

23-35 =20+ 330 + 5) = 600+ 100 + 90 + 15 = B05

Examiple 2
Multply 243- 25 using 2 generic rectamgle,

Since we are multiplying a three-digit number by a two-digit 2o | ™ e -
rimber e need sin sections in our rectamgle. Fill in the
areas and add them topether to zet:

5 500 00 30

243-25 = 2000 + 300 + 300 + 300 + 60 + 30 = 5500




Problems

TUse a zeneric rectangle to fimd each prodoct.
1. 47.52 2 38-84 3. 126-35

4 T2- 39 5. 67 -89 [ 34T -85

7. - Q.
6 TO T
30 1300
200 | 45 1200
50 210 15
1600 56
ANSWeErs
1. 2444 2 3192 3. 4410
&4 ZE0E 5. SEE3 [ 29 495
7. 56- 35 = 1960 2. T5-43= 3225 o 267 -38 =10, 145

Additional Generic Rectangle Help & Practice

On vour note paper draw a rectangle, divide it into two columns.

10 8

Across the top write 18 in expanded form with the 10 above the first box and the 8 above
the second box. Then write 6 to the left of the first box. How 1s this similar to our
rectangle we broke apart on the graph paper? Discuss with your partner. (Share student
responses. Below is a good example to share )

Example: It 1s 1 2 parts, 1t uses expanded notation.

How can I solve this? Discuss with your partner. (Share student responses. Below 1s a
good example to share.)

Example: Multiply (6 1{]) + {"5 X 8) for the partial products from each box.



This method is called a Generic Rectangle. You break apart vour number using expanded
notation. Then multiply to find the partial products and then add the partial product to find
the whole product. Now vou try to use a Genenic Rectangle to find the product for #36 on

our warm-up 8 X 45

40 5

8 320 40 320 +40=360

(Share student responses.)

Let’s look at #32 on our warm-up. What 1s 328 written in expanded notation?

[500 + 20 + 8]

What 1s 49 decomposed using expanded notation? [4(] + 9]

My new dimensions. or factors. are 500 + 20 + 8 and 40 + 9 Draw a large box in
your notes and label the dimensions above. Make a column or row for each of the plus

signs. Why are there 6 boxes? [You have 3 factors by 2 factors, a 3 by 2 box would have
b squares_]

300 + 20 + 8

40




Label each box with the equation yvou would use to find the partial product for that square.
How do vou find the total product for 528 and 497

500 - 20 - 8 20.000
4500
200
500 % 40 = 20x40= 8% 40 = 180
40 20,000 800 320 320
+ 72
+ 25872
SMx9= Wxo=
9 4,500 180 9x8=
72
Add the partial products.
What 1s the answer? [25,872]
637
You Tryv: _
) x 51
600 - 30 + 7 30,000
1.500
G000
, 600 x 50 = 30x50= 7x50= 350
50 30,000 1500 350 30
+ 7
+ 32.487
oxl= WNxl=
1 &00 30 T K?'l =
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Decimals Worksheets Jl“‘

Decimal Place Values

The decimal point separates the whole numbers from the fractional part of a
number.

e,
1325.169\53

In a whole number the decimal point is all the way to the right, even if it is

not shown in a preblem. /

25 = 25,
The place values of the number 1328.1095 are shown below:

ones tenths

tens

hundredths
hundreds III
Hndre \/ J thousandths

thousands ‘;1 3 2 8 . 10 9 5 «— | ten-thousandths

In word problems you will be asked to translate numbers from English. The
word "and” is where the decimal point will go.

Write the following numbers:
Fifty-eight = 58
One-hundred twenty-five thousandths = .125
One hundred and twenty-five thousandths = 100.025
Eleven and three hundredths = 11.03
Six thousand forty and nine tenths = 6,040.9



In the number 2039.876, what digit is in the tenths place?

In the number 2039.876, what digit is in the ones place?

In the number 2039.876, what digit is in the tens place?

In the number 2039.876, what digit is in the thousandths place?

Exercise 1 (answer key starts on page 19)

1) In the number 78.9, what digit (number) is in the tenths place?
2) In the number 78.9, what digit (number) is in the ones place?
3) In the number 78.9, what digit (number) is in the tens place?
4) In the number 6174.903, what digit is in the thousands place?
5) In the number 6174.903, what digit is in the thousandths place?
6) In the number 6174.903, what digit is in the hundredths place?
7) In the number 6174.903, what digit is in the tenths place?

8) In the number 6174.903, what digit is in the ones place?

9) In the number 6174.903, what digit is in the tens place?

10) In the number 6174.903, what digit is in the hundreds place?

Exercise 2
Directions: translate the following numbers from English into decimal numbers

1. Twenty-nine

Eighty-one hundredths

Nine thousand thirty-four and'seven tenths
One and four thousandths

One hundred and sixty-two thousandths

Forty-five hundredths
Four thousand three hundred twenty-one ten-thousandths
One hundred twenty and five tenths

W oND R W

Seventeen thousandths

[y
o

One and seven tenths

o W WO oo



Rounding Decimal Numbers
When rounding decimal numbers, first look at the number place you are
asked to round to. Then look at the digit (number) just to its right. If
that digit is smaller than 5 (0, 1, 2, 3, or 4), then do not round up. If the
digit is 5 or larger (5, 6,7, 8, 9), then round up.

Round 5.6932 to the nearest thoysandth

The place fo round to

5.6932

The digit 2 is small
5.693 is the answer Do not round up.

Round 28.05267 to the nearest thousandth

The place to round to Y o~ | Drop everything to the right
28.05267"
The digit 6 is large.
28.053 is the answer Round up.

Round .09999 to the nearest tenth

Theplacetoround to | =™~ N The digit 9 is
0

E’QY‘.E? large. Round up.

Dirop everything to the right

1 is the answer

Round 04999 to the nearest tenth

The place to round to | The digit 4 is small. Do not round up.

04999
I_TM Drop everything to the right

0 is the answer

Round 199.99 to the nearest whole (ones) number

The place totound to | —— s r\\_\ The digit 9 is

199.99, large. Round up.
N

200 is the answer Drop everything to the right

Derimals Warksheets
Fevised @@ 2008 MLC Page 3 of 11



Exercise 3
Directions: Round the following decimal numbers to the place indicated

1) 1325 to thousandths

2) .0091 to thousandths

3) 0196 to thousandths

4) 51234 to thousandths

) 6.6666 to thousandths

6) 40.61884 to thousandths

/) 1.99999 to thousandths

8) 1325 to hundredths

)  .0091 to hundredths

10) .3333 to hundredths

11) 5567 to hundredths

12) 48.001 to hundredths

13) 7987 to tenths

14) .666 to tenths

15) 1.32 to tenths

16) 99.99 to tenths

17) .5 to whole (ones) number

18) 11.99 to whole (ones) number

19) 499 to the nearest hundred

20) 999 to the nearest thousand

Drecimals Warksheets



Arranging decimal numbers by size

When comparing decimal numbers and arranging them in order it is usually
easiest to line up the numbers vertically with the decimal points in a vertical
line. If a number doesn't have a decimal peint, place the decimal at the end.
You may fill in blanks with zeroes to make the columns easier to line up.

Which is larger .016 or .00899?
ﬁ added zeros
The same W e

~—__ 01600
— 1 is larger than 0;
therefore. 016 s
00899 larger than 00899

016 is the answer



Arrange from the smallest to the largest:

3.018 3.18 3.1

does not have a
whole number;
therefore, it is the
smallest.

Exercise 7

The only clue
here is that 318 N

3.018

3.180
3.100

0.318

3.050\

3.08 .318

L}

[ 3

In the tenths place 3.018 and
3.080 have zeroes; therefore,
they are the next smallest
mmbers. Since 3.018hasa 1
in the hundredths place, it is
smaller.

The two largest mumbers are
left over. Compare 3.180 and
3.100 by looking at hundredths
place. Since 3.100 has a zero
there, it 1s smaller and 3.180 is
the largest of all the numbers.

from smallest to largest, they are:

318 3.018 3.08 3.1 3.18

Directions: arrange these numbers from largest to smallest:

1) 262 2.061 2612 0.66 6.21
2) 14.01 140.1 1.401 14.1 14.11
3) 0067 007 00618 00701 006
4) 1 01 1 1.1 019
5) 5.1 5 5.01 5.09 5.91




Exercise 8

Directions: arrange these numbers from smallest to largest:

1) 7.8 8.7 8.2 7.96 8.014
2) 0.15 01 1 0101 001

3) 94 93.999 93.909 93.99901 94.0001
4) 16.83 16.38 16.3 16.8 16

5) 3.49 3.489 3.4899 3.48999 3.48989

Adding and Subtracting Decimal Numbers

When adding and subtracting decimal numbers, line up the decimal point of
all the numbers. If a number does not show a decimal point, place one to the
right of the whole number. You may add zeroes to keep the columns lined up.

— Add a zero

13.60
Add 13.6 and 42.18 +42.18
55.78
— | Add
1347 .0000 ZeToes
Add 1347 and .0005 + 0005
1347 .0005
113.06 The wording here can be
Subtract 14.69 from 113.06 - 1469 confusing. Notice how
“subtract 14.69 from 113067
98.37 means 113.06 - 14.69
‘//_ Add zeroes
146.000
146 - 3.198 - 3.198

142 802



Exercise 9

Directions: add or subtract the following

1)
87
+h4
4)
38.64
- BAB7
7N1+19+13=

10) 346.8912 - 29.98764

13)124.8 + 3.79 - 118.965

16) Add .001 to 87

19)
143.012

+ 98.764

2) 74906+ 01+ 42 =

5) 462 -31.2 =

8)20-14.8 - 018 =

11)
11.00001
— 111234
14) Subtract 6.8 from 14.2

17) Add 5000 to .0186

20) Subtract .001 from .01

3) 8416 + .28 + 1.489 =

6) 16.001 - 12.984 =

9) 6 + 132.89 =
12)
1234,
- 1234
15) Subtract 38.97 from 59
18)
40
3.80
26.91
+587.89



Multiplying Decimal Numbers

When multiplying decimal numbers, set up the problem like regular
multiplication. When you get your answer, add up the total number of digits
to the right of the decimals in both the numbers you are multiplying and
place the decimal in your answer that many places from the right end.

+—— | three digits

008
02 x .008 x 02 00016 is the answer
00016 two digits
five digits
20
20 % .8 x 8 16.0 is the answer
16.0

When multiplying three numbers together, multiply any twe to get an answer:;
then multiply that answer by the third number.

e
1.02

= 3 one digit
306 -—
306
= 46

1836
1224

14.076

three digits

3 x 1.02 = 46

14.076 is the answer



Exercise 10

Directions: Multiply the following

1) 167 x32 2) 8478x 612 3) 9847 x 7 4) 5)

6)
8.04
x 004

11)
001

= 001

8.45

12)
8.88

8)
4.095
x 006

13)
12.34

x 4321

8842 576
= 002 = .25

9) 10)
11.4 36

14) 15)

d1x1x.1

2.7« 8.3x .0014



Answer Ke
Exercise 1 Exercise ¢ Exercise 3

) 9 1) 29 1) .133
2) 8 2) .81 2) .009
3) 7 3) 90347 3) 020
4) 6 4) 1.004 4) 5123
5) 3 5) 100.062 5) 6.667
6) 0 6) .45 6) 40.619
7) 9 7) 4321 7) 2.000
8) 4 8) 1205 8) .13
9) 7 9) .017 9) .01
10) 1 10) 1.7 10) .33
11) 557
Exercise 4 Exercise B 12) 48.00
1) 125 1) 1 13) 8.0
4
2% DOE 1 14] .?
NOT INCLUDED IN THIS PACKET 2) =
3) 2.167 4 15) 1.3
OT INCLUDED IN THIS PACKET
4) 188 3 16) 100.0
4) =
4
5) 75 5 & 17) 1
25
6) 5 6) = 18) 12
8
T) 13875 7 léi 19) 500
100
8) 8.667 8) 31 20) 1000
20
9) 625 9) i
100
10) .667 10) i
16
11) 5.063 1y 422
40
12) 136.6 12y 737

100




Exercise 7 Exercise 8 Exercise 9
1)6.21,2.62,2612,2061,066 |1) 78,7.96,8014,8.2, 87 1) 14.1
2)140.1,14.11, 141, 1401, 1.401 | 2) .001, .01, 0101, .1, .15 2) 116916
3).00701, .007, 0067, 00618, | 3)93.909, 93.999 93.99901, 94, 3) 8417.769
006 94,0001
4)1.1,1,.1,.019, .01 4)16,16.3, 16.38, 16.8, 16.83 4) 28.77
5)5.91,51,509,501,5 5) 3.489, 348980 34899, 5) 430.8
348999 349
6) 3.017
7) 15
8) 5.182
9) 138.89
10) 316.90356
11) 9.88767
12) 1233.8766
13) 9. 525
14) 7
15) E’D 03
16) 87.001
17) 5000.0186
18) 619
19) 241.776
20) .009
Exercise 10 Exercise 11 Exercise 12
1) 5.344 1) 2.3 1) 76.2 miles
2) 51.88536 2) 20 2) $314.25
3) 68.929 NOT INCLUDED IN THIS PACKET |lons
4) 0017684 ] CcOJ FJ .o T et
5) 144 5) .16 ) $300.80
6) 03216 6) .05 NOT INCLUDED IN THIS PACKET
7) 3.042 7) 23 ) 11.08 inches
8) 02457 8) 2.12
9) 205.2 9) .01
10) 39.6 10) .22
11) .000001 11) .01
12) 7.8144 12) 283.33
13)533.2114 13) 42.66
14) .001 14) 400
15) .031374 15) 2.50
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Adding & Subtracting Decimals

Name:

Solve each problem.

1) 780-55770=

2y 73+487=

3 N3-206

Ly

4) 46+

[ ¥]

e

L]
|

5) 712-6701=

T) 58-45.183=

8) 793+1021=

o) 17-1

[ ]
1

10) 92 +8.83=

11} 67.15-24302=

12) 96+37367=

10

11.

Answers



j; Adding & Subtracting Decimals Name: Answer Key

Solve each problem. Answers
1) 7890-55779= 23.121 1 23.121
3 121.7
N 73+487= 1217 -
! — s 20.65
4 85.5
3 413-2065= 20.65
s 4.99
4) 46+305= 855 6 121.8
7 12.817
5 2-6701= 4.00
! I 5 §9.51
g 15.8
0) 65+368= 121.8
10 100.83
Ty 38-45.183= 12.817 11 42.848

8) 793+1021= 8051
9 17-12= 15.8
10y 92+883= 100.83

11) 67.15-24302= 42848

e
habdt
Lad
=1
Sl

12) 96+37367= 133,




Name : Score :

Teacher: Date :

Write the Correct Comparison Symbol ( =, < or = ) in Each Box

1) 1.95 1.97 11) 445 4.4

2) 0.39 0.38 12) 8.72 0.872
3) 10 1 13) 7.58 7.58
4) 8.18 0.818 14) 2.48 0.248
5) 1.96 1.94 15) 1.73 1.69
6) 542 5.46 16) 0.61 0.061
7) 9.26 0.926 17) 8.06 0.806
8) 4.58 0.458 18 ) 2.09 2.1

9) 2.58 2.6 19) 149 1.44

10) 8.1 8.11 20) 3.5 3.47




Name : Score :

Teacher : Date :

Write the Correct Comparison Symbol ( =, < or =) in Each Box

1) 1.95 <| 197 11) 445 > 44
2) 0.39 >| 0.38 12) 8.72 >| 0.872
3) 10 > 1 13) 7.58 =| 7.58
4) 8.18 > | 0.818 14) 248 > | 0.248
5) 1.96 > 1.94 15) 1.73 > 1.69
6) 542 <| 546 16) 0.61 > | 0.061
7) 9.26 > | 0.926 17 ) 8.06 >| 0.806
8) 4.58 > | 0.458 18) 2.09 < 2.1
9) 2.58 < 2.6 19) 149 > 1.44
10) 8.11 = 8.1 20) 3.5 > | 347
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Multiplyving with Decimals Name:
Solve each problem. Answers
I) 63.0 2) 44 .84 3) 88 6
x 7.0 0 84 x 501 1.
3.
4
3.
4 30 6 5) 28.15 6) 14.36
% 5.20 5.5 = 4.9 6.
T.
5.
9.
10.
7) 63.14 8) 18.65 9 16.92
x 2.08 6.8 x 8.4 1
12.
10) 80.1 11) 5.9 12) 5.6
x 2.8 30 x 6.2
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Multiplying with Decimals

Name: Answer Key

Solve each problem.

1) 63.0
X 7.0

0

+ 44730
447 .30

1) 30.6
X 5.20

0

7220

+ 198000
205020

7) 63.14
X 2.08
50512

0

+ 1262800
131.3312

10) 80.1

6408
+ 16020
224 28

2) 44 84
% 0.84
17936
358720

+ 4035600
441.2256

8) 18.65
x 6.8
14020
+111900
126.820

11)

=
LN R ]
MO

5331
+1770
23.01

3) 88.6

b 5.01

886
0

+ 443000

443 884

6 1436
12024

+57440
70.364

9) 16.92

6768
+ 135360

142128

ba

10.

11.

Answers

447.30

441.2256

443.386

205.920

154.825

126.820

142.128

224.28




GRAPHICAL REPRESENTATIONS OF DATA

Stndents represent distnbutions of smgle-vanable data numencal data using dot plots, stem-and-
leaf plots, box plots, and histoprams. They represent categorical one-variable data on bar praphs.
Each representation commumicates information in a shghtly different way.

STEM-AND-LEAF-PLOTS

A stem-and-leaf plot 15 a way to display data that shows the mdividunal values from a set of data
and how the values are distnibuted. The “stem™ part on the graph represents all of the digits
except the last one. The “leaf” part of the graph represents the last digit of each number.

Read more about stem-and-leaf plots, and how they compare to dot plots and lnstograms, in the
Math Motes in Lesson 2.1 2 and 2 2.1 in the Core Connections, Cowrse I text, and in the Math
Motes in Lesson 7.1.1 of the Core Connections, Course 2 text.

Example 1

Make a stem-and-leaf plot of this set of data:
34,31,37,44,38,29,34 42 43 34 52 and
41.

44478
234

L e LD B2
B3 bt et N

Problems

Make a stem-and-leaf plot of each set of data.

1. 29,28 34 30,33,26,18, and 34.

3. 80,89,79, 84,9579, 89,67, 82,76,92,
89,81, and 123

Example 2

Make a stem-and-leaf plot of this set of data:
392,382, 380,302,378, 375,395,377, and
377.

IT|5778

38 |02

391225

2002534, 27,25,19, 31,42, and 30.

4. 116,104, 101,111, 100, 107, 113, 113,
113,101, 108, 109, 105, 103, and 91.




Expresmons, Equations, and Penctons

DISTRIBUTIVE PROPERTY

The Crismibutive Property shows hiow to express sums and products in twoe ways:
alb+ )= ab+ ac . This can also be wrtten (b +cla=ab +ac .

Factored form Dismributed form Smplified fonm
ail+ ) allb)+ ale) al+ are

To smaplify:  hdultply each term on the inside of the parentheses by the term om the outside.
Combine terms if possible.

For addidonal imformation, see the Math MNotes boxes in Lessons 234 and 7.3.2 of the Core

Connections, Cowrse I text, Lesson 4.3 3 of the Core Conmections, Course 2 text, or Lesson 32 .5

of the Care Conmections, Cowrse J text. For additonal examples and practice, see the Core
Commeciions, Cowrse 1 Checkpoint 8A materials.

Examiple 1 Example 2 Example 3
4T =240+ T) Hr+4)=03-20+(3-4) Har+3y+li=(3F-x)=+{4-3x)+ 41
=(2-20)+(2-T) =3x+12 =4+ 12yv=4
=80+14 =04
Problems
Sinaplify each expression below by applying the Dismibutowve Property.
L a(%+4) I He+E 3. TE+6) 4. HT+4)
5 MITI=310+T) G, 6(48)=0{40+6) T. B{43) B &TH
Q. 3x+a) 0. 5{x+T) 11. B(x—4) 12, &x—10)
13. (8+axp 14. {2+x1)5 15. -T(x+1) 16. —Hy+3)
17. -Hy-3) 13. —S5@-4) 19. —(x+8) 0. —{x+7T)
71 —I:.l: - —':I P —I:—.l: - !-_'] X3 .1.[:.!: +3 24 dxfz+2)

25 —x3a-T) M. —a(lx—0G)




ANSWETS

L (6-M+E-H=5+M4=T78 2 (4-9)={4-8)=36+32=68
3. 56+42=08 4 35+20=55 5. 60+21=81 6. 240+ 36=276
T 3204+ 24 =344 8. 420+ 48 =468 0. 3x+18 0. 5x+35

1l. 8x—32 12, fAx—a0 13, 4x+32 14. S5x+10

15. —Tx-7 16, —3y-—12 17. -3y=15 1. —5b+20

19. —x—6 200 —x-—7 21, —x+4 22 x+3

23 xt+3x 2. 425 +3x 5. Sx+7x 26. —2i%+6x

When the Dhistmbutve Property is nsed to reverse, it 15 called factormg. Factoring chanpes a
sum of terms (no parentheses) to 3 product (with parentheses )

ab + e = b+ £}

To factor: Wite the commoen, factor of all the terms outside of the parentheses. Place the
remaiming factors of each of the origmal erms mside of the parenthesas.

For additional examples and practice, see the Core Conneciions, Cowrse J Checkpoint BA
matenals

Example 4 Example = Example 6
4r+8=4-x+4-2 Gr2—0e = Yx-Px—3x-3 Gx+l2y+3=3-2a+3-4y+3-1
=4x+12) =3x{2x—3) =32+ dv+1)

Probhlems
Factor each expression below by nsing the Dismibubve Property in reverse.

1. &x+12 2. 5y-10 3. 8x+20: 4. ey

5 Em+24 6 16y+40 7. Em-1 g I5y-10

9. 2?10k 10, 21¢* -53 11, 21+ -3 1Z. 15y+35
13, 4a+4dy=4: 14 Gx+12p+0 15, 14r—49x+28 16, »° —x+xy

Expresmons, Equations, and Foncons

Answers

1. &x+1) 2. 5(y—2) 3. HIi+52) 4. xx+y)
5. B{m+3) 6 B{2y+5) 7. #2m-1) B S{(5y-2)
9. Zefx—5) 10, 24P -3 11. 2lofx-9) 12. 5{3y+T)

13, ${x=wv+z) 14 a{x+2y+1) 15. 70 —Trs+dy 160 xx—1+%)
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Find the total area of each shape. AMeasurement is in millimeters (mm). Mot to scale.

Y

3]

-5
[}

4

Determining Eectlinear Area Name-
) 3
4
10
4) ,
10
q
9
&) 10
i | 3
8) "
4
10
10) .

L2

Answers



j;‘ Determining Kectilinear Area Mame: Answer Key

Fimd the total area of each shape Aeasurement is in millimeters (mm). Mot to scale. Answers
1) 4 ) 5 -
L 29 mm*
= L 4 -
6| 22 . 5 . . 2 70 mm*
T 5, S8 mm’
4 55 mm’
3) iy 4) 2

| 4 30 mm*
41 4 0
?

18 | 1o & 36 mm®

& 5 .
p - 47 mm*
g 28 mm®
5-, & ﬁ} i
25 mm’®
a 2
1o 39 mm
P 4 e e —
3
m 4 8 2
4
= [+ ]
8 2 15 ] a0 10
L] 3 109 &




E:L Determining Area with Partial Blocks Name:

Fimd the area of each shaded section. Each block is 1 square mmit (). Anzwers
1) )
L
L
3.
4.
b A
n 4)
&
T
B
5) )




E:L Determining Area with Partial Blocks Name:  Answer Key

Find the area of each shaded section. Each block is 1 sqoare nmit {m). Anzwers
I 0 I 0
73 B L 45w
B 4 -
3 23 -
3 15 7. 42 n*
2 2.3
5 45 . 10 ot
g 7 -
T3 .5 .
8 45 3. 49w
5. s 'L'I:
3 0 4 3
0 5 . 48 n*
. § _—
2 7 .
: s n_ 46w
3 2
2 5 M’
0 § e
0 5
5 3
) 0 ) 0
3 §
i3 7
b ]
3 2.3
& 23
i3 ]
3 7
2 §
0 il
m B 5 0
4 il
4 7
7 .5
5 23
5 2
T 2
4 2
4 1
B il




Name Period Date

Shape Designs

Directions: Complete all the steps A through E and answer the questions that follow which are based on the
shape you make:

A. Place a yellow hexagon in the middle of the paper.

B. Place a red trapezoid on the top and bottom of the hexagon matching the side
opposite of the longest side of the trapezoid with one side of the hexagon.

C. Place one green triangle on each end of the trapezoids so that the sides touch.
You should use 4 green triangles.

D. Use 2 blue rhombus shaped pieces to connect one green triangle on the top with
one on the bottom.

E. Repeat step 4 for the other green triangles.

Questions:

1. Name the shape you have made.

2. Complete the table.

What fraction of the What percent of the shape
shape is this color? is this color?

Green

Blue

Red

Yellow




Now You Be the
Designer

Use the four
shapes and their
colors to design a
figure on the
triangle grid
provided on the
back of this page.

SPREED
S

SRR

-
-
SRR

SRR
SIS

>
>

v Calculate the fractional part of each color and the percent of each color.
v" Write out directions for another group to be able to make the same shape that you did.
v Switch directions with another group and see if they get the shape you made.



What fraction of the shape is this
color?

What percent of the shape is
this color?

Green

Blue

Red

Yellow




